Math 152, Fall 2011, Formula Sheet for Exam 1

sin(0) =0; sin(n/6) =1/2; sin(r/4) =v/2/2; sin(r/3) =3/2; sin(r/2) =1
cos(0) =1; cos(w/6) =v3/2; cos(n/4) =+/2/2; cos(n/3)=1/2; cos(n/2) =0

cos’z +sin?z =1 ;01 +tan?z = sec? ;01 +cot?z =csc’z
sin(2z) = 2sinzcosz ; cos(2r) = cos’z —sin’

1 1
cos’ x = 2 (1+cos(2z)) ; sin®z = 3 (1 — cos(2z))
1
sin Acos B = i[sin(A — B) +sin(A + B)]
1
sin Asin B = §[cos(A — B) — cos(A + B)]

1
cos Acos B = §[cos(A — B) + cos(A + B)]

/secmdm =In|secz +tanz|+ C ; /cscxdx:1n|cscx—cot:v| +C

If Tn, My, Sy are the Trapezoidal, Midpoint and Simpson’s approximations, then

Ty = 571 (o) + 2 (e1) + 2 (z2) + -+ 2f(on—2) + 2 (o) + Fan)]

2
My = Az[f(c1) + f(ca) + -+ + few)] where ¢j = (-1 + ;) /2 ;
S = S21F (o) + 47 (1) +2f (e2) + 4F (s) + -+ 2 () + 4f (o) + Flan)]

If I = f: f(z) dz then:
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